Global Bike Inc.							
Price List							
T-shirt	\$25.00						
Water Bottle	\$25.00 \$15.00						

		G		CESSO ober Mo		roduc Sales	ts				
		Wee	k 1	Week	2	Week	3	Week	4	Total Week	ly Product Sales
ACCESSORY PRODUCT	Size/Color	W1 Units	W1 Sales	W2 Units	W2 Sales	W3 Units	W3 Sales	W4 Units	W4 Sales	Total Units	Total Dollar Sales
T-shirt	S	109	\$2,725.00	38 \$	950.00	31 \$	775.00	23 \$	575.00	201	\$5,025.00
T-shirt	M	48	\$1,200.00	41 \$	1,025.00	23 \$	575.00	15 \$	375.00	127	\$3,175.00
T-shirt	L	45	\$1,125.00	30 \$	750.00	21 \$	525.00	16 \$	400.00	112	\$2,800.00
T-shirt	XL	52	\$1,300.00	22 \$	550.00	21 \$	525.00	17 \$	425.00	112	\$2,800.00
T-shirt	XXL	35	\$875.00	37 \$	925.00	20 \$	500.00	21 \$	525.00	113	\$2,825.00
Water Bottle	Red	85	\$1,275.00	36 \$	540.00	21 \$	315.00	18 \$	270.00	160	\$2,400.00
Water Bottle	Clear	70	\$1,050.00	50 \$	750.00	16 \$	240.00	10 \$	150.00	146	\$2,190.00
Totals		444	\$9,550.00	254 \$	5,490.00	153 \$	3,455.00	120 \$	2,720.00	971	\$21,215.00

					Gl	BI Ac		ory Pi y Sales	roduc	cts							
		Sund	lay	Mon	day	Tues	day	Wedne	sday	Thurs	day	Frida	ау	Satur	day	Tota	al Weekly Sales
ACCESSORY PRODUCT	Size/Color	Sun Units S	iun Sales	Mon Units N	Non Sales	Tue Units T	ue Sales	Wed Units V	Ved Sales	Thu Units 1	hu Sales	Fri Units F	ri Sales	Sat Units S	at Sales	Total Units	Total Dollar Sales
T-shirt	S	25	\$625.00	25	\$625.00	6	\$150.00	30	\$750.00	10	\$250.00	10	\$250.00	3	\$75.00	109	\$2,725.00
T-shirt	М	10	\$250.00	10	\$250.00	5	\$125.00	10	\$250.00	9	\$225.00	2	\$50.00	2	\$50.00	48	\$1,200.00
T-shirt	L	5	\$125.00	5	\$125.00	4	\$100.00	12	\$300.00	4	\$100.00	7	\$175.00	8	\$200.00	45	\$1,125.00
T-shirt	XL	5	\$125.00	5	\$125.00	13	\$325.00	5	\$125.00	5	\$125.00	9	\$225.00	10	\$250.00	52	\$1,300.00
T-shirt	XXL	1	\$25.00	1	\$25.00	7	\$175.00	4	\$100.00	6	\$150.00	4	\$100.00	12	\$300.00	35	\$875.00
Water Bottle	Red	25	\$375.00	25	\$375.00	10	\$150.00	10	\$150.00	5	\$75.00	4	\$60.00	6	\$90.00	85	\$1,275.00
Water Bottle	Clear	10	\$150.00	10	\$150.00	9	\$135.00	15	\$225.00	10	\$150.00	12	\$180.00	4	\$60.00	70	\$1,050.00
Total Daily Sales		81	\$1,675.00	81	\$1,675.00	54	\$1,160.00	86	\$1,900.00	49	\$1,075.00	48 9	1,040.00	45	\$1,025.00	444	\$9,550.00

					GI	3I Ac		Ory P ly Sales	rodu	cts							
		Sund	lay	Mon	day	Tues	day	Wedn	esday	Thurs	day	Frid	ay	Satur	day	Tot	al Weekly Sales
ACCESSORY PRODUCT	Size/Color	Sun Units S	iun Sales	Mon Units N	Non Sales	Tue Units T	ue Sales	Wed Units	Wed Sales	Thu Units 1	Thu Sales	Fri Units F	ri Sales	Sat Units S	at Sales	Total Units	Total Dollar Sales
T-shirt	S	12	\$300.00	1	\$25.00	1	\$25.00	1	\$25.00	5	\$125.00	8	\$200.00	10	\$250.00	38	\$950.00
T-shirt	M	4	\$100.00	5	\$125.00	6	\$150.00	7	\$175.00	8	\$200.00	10	\$250.00	1	\$25.00	41	\$1,025.00
T-shirt	L	5	\$125.00	1	\$25.00	2	\$50.00	3	\$75.00	4	\$100.00	7	\$175.00	8	\$200.00	30	\$750.00
T-shirt	XL	9	\$225.00	1	\$25.00	2	\$50.00	3	\$75.00	1	\$25.00	3	\$75.00	3	\$75.00	22	\$550.00
T-shirt	XXL	5	\$125.00	1	\$25.00	2	\$50.00	4	\$100.00	7	\$175.00	8	\$200.00	10	\$250.00	37	\$925.00
Water Bottle	Red	1	\$15.00	10	\$150.00	2	\$30.00	2	\$30.00	2	\$30.00	9	\$135.00	10	\$150.00	36	\$540.00
Water Bottle	Clear	4	\$60.00	7	\$105.00	1	\$15.00	10	\$150.00	15	\$225.00	1	\$15.00	12	\$180.00	50	\$750.00
Total Daily Sales		40	\$950.00	26	\$480.00	16	\$370.00	30	\$630.00	42	\$880.00	46	\$1,050.00	54	\$1,130.00	254	\$5,490.00

					GI	BI Ac		ory P ly Sales	rodu	cts							
		Sund	lay	Mon	day	Tueso	lay	Wedn	esday	Thurs	day	Frid	ay	Satur	day	Tota	al Weekly Sales
ACCESSORY PRODUCT	Size/Color	Sun Units S	un Sales	Mon Units N	∕lon Sales	Tue Units T	ue Sales	Wed Units	Wed Sales	Thu Units 1	hu Sales	Fri Units F	ri Sales	Sat Units S	at Sales	Total Units	Total Dollar Sales
T-shirt	S	1	\$25.00	1	\$25.00	2	\$50.00	6	\$150.00	10	\$250.00	7	\$175.00	4	\$100.00	31	\$775.00
T-shirt	M	3	\$75.00	2	\$50.00	0	\$0.00	7	\$175.00	2	\$50.00	5	\$125.00	4	\$100.00	23	\$575.00
T-shirt	L	4	\$100.00	2	\$50.00	0	\$0.00	8	\$200.00	1	\$25.00	2	\$50.00	4	\$100.00	21	\$525.00
T-shirt	XL	7	\$175.00	2	\$50.00	0	\$0.00	2	\$50.00	2	\$50.00	2	\$50.00	6	\$150.00	21	\$525.00
T-shirt	XXL	2	\$50.00	2	\$50.00	3	\$75.00	2	\$50.00	8	\$200.00	1	\$25.00	2	\$50.00	20	\$500.00
Water Bottle	Red	2	\$30.00	5	\$75.00	3	\$45.00	1	\$15.00	0	\$0.00	5	\$75.00	5	\$75.00	21	\$315.00
Water Bottle	Clear	0	\$0.00	4	\$60.00	2	\$30.00	0	\$0.00	0	\$0.00	8	\$120.00	2	\$30.00	16	\$240.00
Total Daily Sales		19	\$455.00	18	\$360.00	10	\$200.00	26	\$640.00	23	\$575.00	30	\$620.00	27	\$605.00	153	\$ \$3,455.00

					GE	BI Ac		ory P ly Sales	rodu	cts							
		Sund	lay	Mon	day	Tues	day	Wedn	esday	Thurs	day	Frid	ay	Satur	day	Total	Weekly Sales
ACCESSORY PRODUCT	Size/Color	Sun Units S	un Sales	Mon Units I	Mon Sales	Tue Units T	ue Sales	Wed Units	Wed Sales	Thu Units	hu Sales	Fri Units F	ri Sales	Sat Units S	at Sales	Total Units	Total Dollar Sales
T-shirt	S	2	\$50.00	4	\$100.00	2	\$50.00	7	\$175.00	7	\$175.00	1	\$25.00	0	\$0.00	23	\$575.00
T-shirt	M	1	\$25.00	2	\$50.00	2	\$50.00	6	\$150.00	2	\$50.00	2	\$50.00	0	\$0.00	15	\$375.00
T-shirt	L	1	\$25.00	5	\$125.00	2	\$50.00	5	\$125.00	2	\$50.00	1	\$25.00	0	\$0.00	16	\$400.00
T-shirt	XL	0	\$0.00	5	\$125.00	5	\$125.00	2	\$50.00	1	\$25.00	2	\$50.00	2	\$50.00	17	\$425.00
T-shirt	XXL	1	\$25.00	6	\$150.00	2	\$50.00	6	\$150.00	3	\$75.00	1	\$25.00	2	\$50.00	21	\$525.00
Water Bottle	Red	5	\$75.00	3	\$45.00	2	\$30.00	4	\$60.00	1	\$15.00	1	\$15.00	2	\$30.00	18	\$270.00
Water Bottle	Clear	2	\$30.00	1	\$15.00	2	\$30.00	1	\$15.00	1	\$15.00	1	\$15.00	2	\$30.00	10	\$150.00
Total Daily Sales		12	\$230.00	26	\$610.00	17	\$385.00	31	\$725.00	17	\$405.00	9	\$205.00	8	\$160.00	120	\$2,720.00

Row Labels	Sum of Total Units
T-shirt	665
Water Bottle	306
Grand Total	971



